CLASS : 12th (Sr. Secondary) Code No. 5617
Series : SS-April/2021

Roll No. SET : C

THSIMA
SOCIOLOGY
HT - 11
PART - II

(aEgfss 9%9)
(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ot A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT FF G % FT TG § JRT §T 16 T J97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ Y@ 98 GrRET #Y o [ geT-9A {7 7 @& 8, qhEr & I 59
G 4 ig A arar @w e A aEm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

() @ geT et &

All questions are compulsory.
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(2) 5617/(Set : C)
(i) 97 FE 1 G 40 7% TGS, GRBHAT Fo7 &1 HA% F97 1 3% F &1 & Iuv
ST FAT-Giea 1&g

Questions from 1 to 40 are objective/ multiple choice type questions. Each

question is of 1 mark. Write correct answer in your answer-book.
1. G T8 & e og-a & @ad & Gar-dier’ el ol & ¢ 1
(A) 15 T 16 a9 @
(B) 1731 18 a¥ &
(C) 1971 20 I H
(D) ST qll &l

Which age group members of the social group are called the 'Younger
Generation' ?

(A) 15th or 16 years
(B) 17th or 18 years
(C) 19th or 20 years

(D) All of the above

2. =1 7 @ g el § ST OiR eaaR’ & 9 @ e ge © ? 1
(A) 184t (B) 194t
() 20df (D) T8 & ®IE T
In which Century the relation between "Caste & Business" gets loosened ?
(A) 18th (B) 19th
(C) 20th (D) None of the above
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3. WRA & SEE § ‘garer’ &l g © 1
(A) 30% (B) 35%
(C) 40% (D) 50%

The percentage of "Youth" in Indian population is :

(A) 30% (B) 35%
(C) 40% (D) 50%

4. I e § A @ 9 g8 Hl 9O © 1
(A)  HeET (B) T
(C) HmIehIY (D) S aqHl

The method of asking questions to a large number of people is :

(A) Survey (B) Observation
(C) Interview (D) All of the above
5. BAR @A # HH-A1 9 SOET gRe B 7 1
(A) = (B) e o
(C) = D) ah

Which class is more hard working in our society ?

(A) Upper Class (B) Middle Class
(C) Lower Class (D) All of the above

6. TIERCT FHi i A1 G PN T BROT § 7 1
(A) STaT (B) aF-%HeM
(C) foreemos (D) &

5617/(Set : C)/ I P.T.O.



(4) 5617/(Set :

What is the cause of deformation or downfall of Environment ?
(A) Awas (B) Deforestation

(C) Displacement (D) Gases

7. ‘GEMYE AR’ B e Hfarieeg fohar ?

(A) SEIfNE B (B) o rEHT
(C) et faEmErR (D) TRET &
Who represented 'Satya Shodhak Movement' ?
(A) Jyotirao Phule (B) Dr. Ambedkar
(C) Ishwar Chandra Vidyasagar (D) Narayan Guru
8. ‘= ST AT fope S fehar ?
(A) & TET TE (B) Sfo MaEHT
(C) AfRE FH (D) IRIR Zo dlo AR

Who started 'Lower Caste Movement' ?
(A) Shri Narayan Guru

(B) Dr. Ambedkar

(C) Jyotirao Phule

(D) Periyar E. V. Ramasamy

9. ‘U A= H FH BT & ?

(A) AT Qe

(B) =Sl JEE 9
(C) &t AT &
(D) G el SgIm
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Who was the father of 'Chipko Movement' ?
(A) Medha Patekar
(B) Chandi Prasad Bhatt
(C) Shri Narayan Guru
(D) Sundar Lal Bahuguna

10. ‘&H wor H IR Fhae Gifvd Hamr o ? 1
(A) Sfo FFEHT
(B) SHIfCNTE Gl
(C) o ™ Hed
(D) S &
Who tried to get declared the 'Sati Pratha' as illegal ?
(A) Dr. Ambedkar
(B) Jyotirao Phule
(C) Raja Ram Mohan Rai

(D) Dayanand Saraswati

11. SHEATE B TP S 1
(A) I (B) SAdMTH
(C) ST (D) ST
The nature of Sociology is :
(A) Scientific (B) Unscientific
(C) Inhuman (D) Antisocial
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12.

13.

14.

(6) 5617/(Set
g R
(A) T Sifa Fron
(B) T SivTeil Hrefl
(C) TH @IS T
(D) TH FHMIMSTES JO0
Human is a :
(A) Biological Creature
(B) Wild Creature
(C) Social Animal

(D) Antisocial being

frfoiad & & #-a1 Refd wRedy & g e & ?

(A) a5 (B) &HY

(©) e (D) Swg df

Among the following which condition is responsible for change ?
(A) Commodity (B) Time

(C) Differences (D) All of three

SRR & ST B G e H R & S © °
A) frerE

(B) W

(C) I TR

Y

(D) &N A<
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Which of the following given the title of the 'father of demography' ?
(A) Guillard
(B) Malthus
(C) Karl Marx

(D) John Grant

15. ffesr SufasEr & XM 9RA § ‘GO gER i & g e d 8 R e
Yae o i ? 1

(A) o1 W AT W™
(B) M= Gl
(C) oI TMeR fociss Td Herem e

(D) WETAT e

Which of the following social reformer led the 'social reform movement' in India
during British Colonialism ?

(A) Raja Ram Mohan Rai
(B) Dayanand Saraswati
(C) Bal Gangadhar Tilak & Mahatma Gandhi

(D) Mahatma Gandhi

16. ‘SRRSHR, IR AT MU - F fhad o B 7 1
(A) ST (B) ST &
(C) orEgsaa & (D) STgF a4 B
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'Boycott, Disrespect & Exploitation' — These are dimensions of :
(A) Caste
(B) Tribe
(C) Untouchability

(D) All of the above

17. ‘Si-36Y gur o T 1
(A) 1782 ® (B) 1882 #
(C) 1982 # (D) & ¥ #ig T

"Female — Male Comparison" was written in :

(A) 1782 (B) 1882
(C) 1982 (D) None of the above
18. ‘Mg HF & ¢ &7 sEl § MY U 5y q=fq & d6d I8 Hhd & 7 1
(A) T (B) §a&
(C) R (D) s & &
For "Research Work" we can ask direct questions to the students under which
style ?
(A) Observation (B) Survey
(C) Interview (D) All of the above
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19. ‘IS HEER! T STEAM Ugd Heaw § 1
(A) | ferse
(B) fics fereer
(C) iR fawman
(D) & q Fig Tl

Unequal reach upto "Social Resources" is called :

(A) Social dissimilarity
(B) Economic dissimilarity
(C) Political dissimilarity

(D) None of the above

20. JoN ud Rl & S STEHMAT & B § 7 1
(A) Sl (B) @I
() Sife (D) T & FE T

What is the reason of inequality among males & females ?

(A) Natural (B) Social
(C) Biological (D) None of the above
21. qd & Yol Uo7 Hawy R @Y # B 7 1
(A) @ (B) @R
© @ (D) T
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How many levels of Panchayati Raj System in India ?

(A) Three (B) Four
(C) Two (D) One
22. WRA H FHIRUENHCT & FRH HHA-H § 7 1
(A) SRR
(B) |MISTh T it A=
(C) TR
(D) IUge Gl

What are the causes of secularism in India ?
(A) Westernization

(B) Social & religious movement
(C) Urbanization

(D) All of the above

23. I TG B PE © 1
(A) T (B) T
(C) FR (D) ™ | *1g e
Centre of consumer culture is/are :
(A) State (B) Village
(C) City (D) None of these

24. o Fo TUESH HI HeHe | B @ & [T ‘AvSd STANT & Mo fhq Iy fpar mar o ?1
(A) 1976 & (B) 1977 ®
(C) 1978 (D) 1979 #
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In which year was the 'Mandal Commission' set up for backward classes under
the Chairmanship of V. P. Mandal ?

(A) 1976 (B) 1977
(C) 1978 (D) 1979

25. T § HH-A1 S B Adwar § ? 1
(A) Fare Tl wER FEE
(B) 9™ SU-fawe™
(C) UHR® FaHE
(D) JUAFT Gl

Which of the following is the 'characteristic of Caste' ?
(A) Strict Marriage Rules

(B) Mutual Subdivision

(C) Traditional Occupation

(D) All of the above

26. =1 § @ [0 B & AER W FIHEIH M Hl A S I Rueq den o @ &
AR fear T ® 7 1

(A) oFTT 27
(B) oTIesE 29

(C) T8 30
(D) IUUET | 9 fhel H W@l
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On the basis of which of the following Article, the minority classes have been
given the right to establish an Educational Institution of their interest ?

(A) Article 27
(B) Article 29
(C) Article 30

(D) None of the above

27. ‘&g faare erfafem’ w9 ok gatm ? 1
(A) 1946 ¥ (B) 1951 #
(C) 1955 H (D) 1976 #

When was the 'Hindu Marriage Act' passed ?

(A) 1946 (B) 1951
(C) 1955 (D) 1976
28. ‘S@ THC H WO fE 9y g ? 1
(A) 18259 (B) 1828 H
(C) 1820 H (D) 1819 #

In which year 'Brahmo Samaj' was established ?

(A) 1825 (B) 1828
(C) 1820 (D) 1819
29. = § § HH-91 T TS ARk § qeafvead 78 & ¢ 1
(A) ET (B) fommeam
(C) T~ (D) THEHIE A
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Which of the following feature is not related with Social Movement ?
(A) Structure
(B) Ideology
(C) Organisation

(D) Miraculous leadership

30. ffafed § & H9-91 TS & 787 § 7 1
(A) R ST 91
(B) WG TS Hiud
(C) SFH ST el
(D) R HYFE e

Which of the following is not a National Party ?
(A) Bharatiya Janata Party

(B) Indian National Congress

(C) Jannayak Janata Party

(D) Communist Party of India

31. TEHIH B FTR b & ? 1
(A) THo THo %ﬁﬁElTH (B) E@Eﬁ
©) (D) PR
Who gave the concept of Sanskritisation ?
(A) M. N. Srinivas (B) Mukherij
(C) Ghurye (D) Majumdar
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32.

33.

34.

35.

(14)

et S T FE AT

(A) 1730

(C) 1930

Gandhiji broke the 'Salt Law' in :
(A) 1730

(C) 1930

A § G99 SISl H-A 8 7

(A) i

(C) e

Which is the biggest tribe in India ?
(A) Bhil

(C) Gond

A= ARG § el ST e g ¢
(A) 1949 &

(C) 1951 #

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

5617/(Set

1830 H

T q FI5 T

1830

None of these

g1

ERRERISE

Santhal

All of the above

1950 ¥

1961 ¥

When did the first Census took place in independent India ?

(A) 1949

(C) 1951

(B)

(D)

1950

1961

fasg @ TEE # fhaq gfaed 9Ra § o & ® 7

(A) 17%

(C) 19%
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What percentage of the world's population lives in India ?

(A) 17% B) 18%
(C) 19% (D) 20%
36. SEEA & UMY & w1 § | e i ? 1
(A) HTH (B) i
(C) T (D)
Who among the following gave principle of geometry of population ?
(A) Malthus (B) Darwin
(C) Spencer (D) Lamarck
37. IM TORC MY QAT H THE © 1
(A) TR @ (B) =T B
(C) ®e &l (D) T @l
Gram Panchayat is the unit of local self-government of :
(A) Town (B) City
(C) District (D) Village
38. 9RA & VAT 2001 F HAIEAR, 9RG H i @eRar &% o g ? 1
(A) 65.16% B) 54.2%
(C) 65.46% (D) 65.26%

What is the female literacy rate in India according to census 2001 ?
(A) 65.16% B) 54.2%

(C) 65.46% (D) 65.26%
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39. ART § G99 HH T e TF A © 7
(A)  eTET (B) STEUTERT JasT
(C) f=rR (D) uiYEw S

Which State has the lowest density in India ?

(A) Rajasthan (B) Arunachal Pradesh
(C) Bihar (D) West Bengal
40. TH & &EF W AR TGS o HA-T1 8 7
(A) AR ST U
(B) R HYFE U
(C) g GHErE! e
(D) #R@S g A=

Which of these is region based political party ?
(A) Bhartiya Janata Party

(B) Bhartiya Communist Party

(C) Bahujan Samajwadi Party

(D) Jharkhand Mukti Morcha
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